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1. Answer the following questions : 1x10=10
G AR Taq o
fa) Write one use of Edgeworth box
diagram.
aEend I (I7F0) fouT W1 Iz foran |

(b) What is contract curve?

e @ 2
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(2)
Define pure public good.
AT IR TIN5 i o

What is degree of monopoly power?
GO TR R T R 2

In which market, there is selling cost?
@ TS R W A 2

What is meant by strategy of a game?
9 R P I R qmm o

Define signalling in a market.
I LI 75w fory |

What is duopoly market?

IR W R 2

What is meant p :

) Y asymm
information? etric
Sl © et R qmm o

What is non-zero-sum game?.
T-H-Q 037 6 2

( Continued )

2. Answer the following questions :
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(3)

o] oA Tas fordn

fa) Define two types of externality.

w2 QR IO A ford |

(b) Distinguish between perceived demand
and proportionate demand.

TIPS B WIE AT SRR e N
forn 1

{c) Define Cournot’s oligopoly model.

xSt RGBT B

(d) What is market efficiency?
I&[ 7ol [$ 2

(e) Distinguish between minimax and
maximin strategies in game theory.

@ o] it W aRife (R e
nefF foran |

2x5=10
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3. Answer any four of the following questions :

R 2aRd R e vifReR Ses o

(a)

(b)

()

(d)

(e)
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5x4=20

Explain the concept of production
possibility frontier.

TATA SIS @R CRATHT WM F40 |

What are the characteristics of public
goods? Explain.

Jreredl IR PR & &2 w0

Explain Lerner’s measure of degree of
monopoly power.

AR GFORW P T IR e
A 4

Explain how the saddle point is
obtained in a two-person zero-sum
game.

®-I&E W-aA w1 [ Fema
o T, IR 0

Explain the concept of dumping in
a market.

THES TSI 4RACHT ML T4 |

( Continued )

0

(S)

Is price discrimination under monopoly
desirable? Support your answer.

N RS W RN I 7 (SRR
Teg] FeieF & wefl |

4. Answer the following questions : 10x4=40
Sod 2PCAIRT BT fordt
(a) Explain the conditions for Pareto

(b)
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optimality.
(OB T TN 4R SR T 341 |
Or/ g1

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly
power. 4+6=10
el @RS T & Ry A,

71 | G e et |R R e o
TS S I T

Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

RGBT TRER SR =G oo zEe
U A1
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(c)

(d)
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(6)

Or/ «gd

Explain how a firm under monopolistic
competition attains equilibrium both.in
the short and long run.

GFRFR AN IS b1 AP FewE

A WF IR SRl e 7,
Al 3 |

Write notes on adverse selection and
moral hazards which may arise due to
information asymmetry with examples.

5+5=10

AT OT0S TR ©YR FINC Beoim ¢
afSge o o CAfes RefdY eorme G
B

Or / 7

Explain the market equilibrium process
in case of a multi-plant monopoly.

FT[ARVT  qIEHT IWR© TR SR
fRdra eifdm 0

Diagrammatically explain how
externalities in  production and
consumption lead to market failure.

TR I (SR IRFOR @FENE @R
Reerer TR 31, B sTzwe W T4 |

( Continued )
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(7)

Or / 75

Explain how optimum resource
allocation can be obtained with the
help of production possibility frontier
and social indifference curve.

Teot TBIREI (31 e AR e @R
wREce TSR TR Retd @ Sore =,

oAl ¥4 |
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